
Goniometrické rovnice 

 

Řešte v R rovnice : 

1. 01coscos2 2  xx  

2. xx sin33cos2 2   

3. 1sin4 22  xtgx  

4. 05cos35sin2 2  xx  

5. 0sinsin2 2  xx  

6. xx cossin   

7. 0cossincos6sin 22  xxxx  

8. 02sinsin  xx  

9.  2sincos1 xx   

10. 1cossin2cos  xxx  

11.  2cossin2sin2cos xxxx   

12. 2
4

sin2 










x  

13. xtgx sin2  

14. 3cossin2sin4 2  xxx  

15. 1sincos2sin 2  xxx  

16. 
2

1
cossin xx  

17. xx cos22cos   

18. xxx sin2sin2cos1   

19. 0
2

sin
4

cos 
xx

 

20. 0
2

sin
2

3
sin 

x
x  

21.    
2

3
30sin30sin   xx  

 


